
Folk Exam Questions - Chapter 14


1.
Zernoni Company's net income last year was $225,000 and its interest expense was $30,000. Total assets at the beginning of the year were $1,950,000 and total assets at the end of the year were $1,830,000. The company's income tax rate was 30%. What was the company's return on total assets for the year?



Solution:



Return on total assets = [Net income + (Interest expense x (1 – Tax rate)] ÷ Average total assets



Return on total assets = [$225,000 + ($30,000 x (1 – .30)] ÷ [($1,950,000 + $1,830,000) ÷ 2]



Return on total assets = ($225,000 + $21,000) ÷ $1,890,000 = 13.0%


2.
Selected financial data for Spelling Company appear below:

	      
	Account Balances

	      
	End of
	Beginning

	      
	Year
	of Year

	Common stock 
	$1,200,000
	$900,000

	Preferred stock
	375,000
	375,000

	Retained earnings
	555,000
	225,000

	
	
	




During the year, the company paid dividends of $30,000 on its preferred stock. The company's net income for the year was $360,000. What is the company's return on common stockholders' equity for the year?


Solution:



Return on common stockholders’ equity = (Net income – Preferred dividends) ÷ Average common stockholders’ equity



Return on common stockholders’ equity = ($360,000 – $30,000) ÷ [(($1,200,000 + $555,000) + ($900,000 + $225,000)) ÷ 2]



Return on common stockholders’ equity = $330,000 ÷ [(($1,755,000 + $1,125,000) ÷ 2]



Return on common stockholders’ equity = $330,000 ÷ $1,440,000 = 22.92%


3.
Selected year-end data for the Melbourne Company are presented below:
	Acid-test ratio 
	2.5 to 1

	Cost of goods sold 
	$1,500,000

	Current liabilities 
	$1,800,000

	Current ratio 
	3.0 to 1




The company has no prepaid expenses and inventories remained unchanged during the year. Based on these data, what was the company's inventory turnover ratio for the year?


Solution:



First, determine the amount of current assets using the current ratio as follows:



Current ratio = Current assets ÷ Current liabilities



3.0 = Current assets ÷ $1,800,000



Current assets = $5,400,000



Next, determine the amount of quick assets using the acid-test (or quick) ratio as follows:



Acid-test ratio = Quick assets ÷ Current liabilities



2.5 = Quick assets ÷ $1,800,000



Quick assets = $4,500,000



Since there are no prepaid expenses in this situation, inventories would be the difference between current assets and quick assets as follows:



Inventory = Current assets – Quick assets



Inventory = $5,400,000 – $4,500,000 = $900,000



Finally, compute the inventory turnover ratio as follows:



Inventory turnover ratio = Cost of goods sold ÷ Average inventories



Inventory turnover ratio = $1,500,000 ÷ [($900,000 + $900,000) ÷2] 



Inventory turnover ratio = $1,500,000 ÷ $900,000 = 1.67 times

D) 
4.
Meryl Company had $540,000 in sales on account last year. The beginning accounts receivable balance was $30,000 and the ending accounts receivable balance was $54,000. What was the company's average collection period (age of receivables)? 



Solution:


First, calculate the accounts receivable turnover as follows:


Accounts receivable turnover = Sales ÷ Average accounts receivable


Accounts receivable turnover = $540,000 ÷ [($30,000 + $54,000) ÷ 2]


Accounts receivable turnover = $540,000 ÷ $42,000 = 12.857


Then, calculate the average collection period as follows:


Average collection period = 365 days ÷ Accounts receivable turnover

Average collection period = 365 ÷ 12.857 = 28.389 (or 28.4 days)
